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                                                 ( f + g ) ’ (a) = f ’(a) + g ’ (a)  
 
                                        ( f · g  ) ’ (a) = f (a) · g ’ (a) + f ’ (a) · g (a) 
 
                                       ( f / g ) ’ (a) = f ’ (a) · g (a) - f (a) · g ’ (a) 
                                                               
                                                                               g ² (a)  
d(k)=0     d(x)=1 
d(u+v-w)=du+dv-dw   d(Ku)=Kdu 
d(uv)=udv+vdu   d(u dunu nn 1) −=  
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u −=    d ( senu ) = cosu · du  

 
d ( cosu ) = - senu · du  d ( tgu ) = sec²u· du 
 
d ( ctgu ) = - csc²u  · du  d ( secu ) = secu · tgu · du 
 

d ( cscu ) = -cscu · ctgu · du  d ( Ln u) = du
u
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d(logu)= du
uLnu
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   d(a .)() duLnaauu =  

d(e dueuu =)  
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d(arctagx)= 
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